EJERCICIO 4

OSWALDO MOSCOSO

1ERA REVISTA
# PUBLICACIONES 2014
2013 2012

72 + 80=150

#CITAS
2013 2012
150 + 160=310

FACTOR DE IMPACTO 2014=300/152=2,039

# PUBLICACIONES 2013
2012 2011

75 + 72=147

#CITAS
2012 2011
120 + 180=300

FACTOR DE IMPACTO 2013=300/147=2,040

# PUBLICACIONES 2012
2011 2010

70 + 75=145



#CITAS
2011 2010
200 + 100=300

FACTOR DE IMPACTO 2012=300/145=2,0680

FACTOR DE IMPACTO 2011 NO SE PUEDE

2DA REVISTA
# PUBLICACIONES 2014
2013 2012

240 + 200=440

#CITAS
2013 2012
180 + 200=380

FACTOR DE IMPACTO 2014=380/440=0,8636

# PUBLICACIONES 2013
2012 2011

160 + 200=360

#CITAS
2012 2011
170 + 200=370

FACTOR DE IMPACTO 2013=370/360=1,027



# PUBLICACIONES 2012
2011 2010

120 + 160=180

#CITAS
2011 2010
200 + 160=360

FACTOR DE IMPACTO 2012=360/180=2

FACTOR DE IMPACTO 2011 NO SE PUEDE



